REGISTERED LIMITED LIABILITY PARTNERSHIP

Steel Hector & Davis LLP 215 South Monroe, Suite 601 Tallahassee, Florida 32301-1804 850.222.2300 850.222.8410 Fax www.steelhector.com

Matthew M. Childs, P.A.

November 6, 2001

- VIA HAND DELIVERY -

Ms. Blanca S. Bayó, Director Division of the Commission Clerk and Administrative Services Florida Public Service Commission 4075 Esplanade Way, Room 110 Tallahassee, FL 32399

RE: DOCKET NO. 010001-EI

Dear Ms. Bayó:

Enclosed for filing please find the original and fifteen (15) copies of Florida Power & Light Company's Revised Prehearing Statement, together with a diskette containing the electronic version of same. The enclosed diskette is HD density, the operating system is Windows 98, and the word processing software in which the document appears is WordPerfect 9.

Very truly yours.

Matthew M. Childs, P.A.

MMC/gc Enclosures

APP CAF CMP

COM CTR ECR LEG OPC

PAI RGO

SER

cc: All Parties of Record (w/enclosures)

TAL_1998/40632-1

Miami

West Palm Beach

Key West

London

Caracas

São Paulo

Santo Domingo

Tallahassee

Rio de Janeiro

BEFORE THE FLORIDA PUBLIC SERVICE COMMISSON

IN RE: Fuel and Purchased Power) DOCKET NO. 010001-EI
Cost Recovery Clause and) FILED: NOVEMBER 6, 2001
Generating Performance)
Incentive Factor)

FLORIDA POWER & LIGHT COMPANY'S REVISED PREHEARING STATEMENT

Pursuant to Order No. PSC-01-1885-PCO-EI, issued September 21, 2001, establishing the prehearing procedure in this docket, Florida Power & Light Company ("FPL") hereby submits its revised Prehearing Statement. FPL is providing only those items that have changed. This reflects the revision addressed by the Testimony and Exhibits of FPL Witness L.E. Green, J. Hartzog and K.M. Dubin concerning added plant security costs and a revision to FPL's sales forecast resulting from the September 11, 2001 terrorist attack.

B. WITNESSES

<u>WITNESS</u>	SUBJECT MATTER

Leo Green Sales Forecast

What are the appropriate levelized fuel cost recovery factors for the period January, 2002 through December 2002?

FPL: 2.860 cents/kWh is the levelized recovery charge to be collected during the period January, 2002 through December, 2002. (DUBIN)

What are the appropriate fuel cost recovery factors for each rate class/delivery voltage level class adjusted for line losses?

FPL:

GROUP	RATE SCHEDULE		AVERAGE FACTOR	FUEL RECOVERY LOSS MULTIPLIER	FUEL RECOVERY FACTOR
Α	RS-1,GS-1,SL2		2.860	1.00210	2.866
A-1*	SL-1,OL-1,PL-1		2.799	1.00210	2.805
В	GSD-1		2.860	1.00202	2.865
С	GSLD-1 & CS-1		2.860	1.00078	2.843
D	GSLD-2,CS-2,OS-2	&	2.860	.99429	2.873
	MET				
E	GSLD-3 & CS-3		2.860	.95233	2.723

GROUP	RATE SCHEDULE	AVERAGE FACTOR	FUEL RECOVERY LOSS MULTIPLIER	FUEL RECOVERY FACTOR
. А	RST-1,GST-1			
	ON-PEAK	3.138	1.00210	3.145
	OFF-PEAK	2.735	1.00210	2.741
В	GSDT-1,CILC-1(G)			
	ON-PEAK	3.138	1.00202	3.144
	OFF-PEAK	2.735	1.00202	2.740
С	GSLDT-1 & CST-1			
	ON-PEAK	3.138	1.00078	3.140
	OFF-PEAK	2.735	1.00078	2.737
D	GSLDT-2 & CST-2			
	ON-PEAK	3.138	.99429	3.120
	OFF-PEAK	2.735	.99429	2.719
E.	GSLDT-3,CST-3			
	CILC-1(T)&ISST-1(T)			
	ON-PEAK	3.138	.95233	2.988
	OFF-PEAK	2.735	.95233	2.604
F	CILC-1(D) &			
	ISST-1(D)			
	ON-PEAK	3.138	.99331	3.117
	OFF-PEAK	2.735	.99331	2.717
*WEIGHTED AVERAGE 16% ON-PEAK AND 85% OFF-PEAK				(DUBIN)

*** New Issue

ISSUE 18L: Should FPL be allowed to recover incremental security costs through the Fuel Cost Recovery Clause?

FPL: Yes. FPL believes it is essential to increase security to protect and maintain its fuel supply so that we can continue to provide economical nuclear and fossil generation. Clearly, the inability to operate one or more of our generating units, particularly our nuclear generation units, will have a significant adverse impact on our fuel costs. FPL believes it is appropriate to recover the incremental security costs through the fuel cost recovery clause. There are significant uncertainties in these costs. Moreover, it is vital that FPL respond to changing threat levels in a proactive manner.

(HARTZOG/DUBIN)

ISSUE 30: What are the projected capacity cost recovery factors for each rate class/delivery class for the period January, 2002 through December, 2002?

RATE CLASS	CAPACITY RECOVERY FACTOR (\$/KW)	CAPACITY RECOVERY FACTOR (\$/KWH)
RS1 GS1 GSD1	- - 2.34	.00701 .00608
OS2 GSLD1/CS1 GSLD2/CS2 GSLD3/CS3	- 2.40 2.38 2.49	.00310 -
CILCD/CILCG CILCT MET	2.51 2.53 2.55	- - -
OL1/SL1/PL1 SL2	- -	.00182 .00445
RATE CLASS	CAPACITY RECOVERY FACTOR (RESERVATION DEMAND CHARGE) (\$/KW)	CAPACITY RECOVERY FACTOR (SUM OF DAILY DEMAND CHARGE) (\$/KW)
ISST1D SST1T SST1D	.31 .29 .30	.15 .14 .14

(DUBIN)

WITNESSES AND SUBJECT MATTER

G. YUPP K. M. DUBIN J. R. HARTZOG	FPL FPL FPL	REVISED Levelized Fuel Cost Recovery Factors for January, 2002 through December, 2002	KMD-7
K. M. DUBIN	FPL	REVISED Capacity Cost Recovery Factors for January, 2002 through December, 2002	KMD-8
L. GREEN	FPL	Forecast Assumptions	LEG-1

Dated this 6th day of November, 2001.

Respectfully submitted,

STEEL HECTOR & DAVIS LLP
215 South Monroe Street, Suite 601
Tallahassee, FL 32301-1804
Attorneys for Florida Power & Light
Company

BY:

Matthew M. Childs, P.A.

CERTIFICATE OF SERVICE DOCKET NO. 010001-EI

I HEREBY CERTIFY that a true and correct copy of Florida Power & Light Company's Revised Prehearing Statement has been furnished by hand delivery (*), or U.S. mail this 6th day of November, 2001, to the following:

Wm. Cochran Keating IV, Esq.* Division of Legal Services Florida Public Service Commission 2540 Shumard Oak Blvd. Tallahassee, FL 32399

Robert Vandiver, Esq. Office of Public Counsel 111 West Madison Street Room 812 Tallahassee, FL 32399

Norman H. Horton, Esq.* Floyd R. Self, Esq. Messer, Caparello & Self Attorneys for FPUC 215 South Monroe St. #701 Tallahassee, FL 32301

Jeffrey A. Stone, Esq. Russell A. Badders, Esq. Beggs and Lane P. O. Box 12950 Pensacola, FL 32576 Attorneys for Gulf Power Corp. Lee L. Willis, Esq. James D. Beasley, Esq. Ausley & McMullen Attorneys for TECO P. O. Box 391 Tallahassee, FL 32302

James A. McGee, Esq. Florida Power Corporation P. O. Box 14042 St. Petersburg, FL 33733

Vicki Gordon Kaufman, Esq. Joseph A. McGlothlin, Esq. McWhirter, Reeves, McGlothlin, Davidson, et al. Attorneys for FIPUG 117 South Gadsden Street Tallahassee, FL 32301

John W. McWhirter, Jr., Esq. McWhirter, Reeves, McGlothlin, Davidson, et al. Attorneys for FIPUG P.O. Box 3350 Tampa, Florida 33601-3350

Bv

MATTHEW M. CHILDS, P.A.